
 الباب الرابع

الأعداد( متىاليات)متتاليات   
 



 الدرس الأول

 المتتاليات
 



         .                                                      

:                   

1, 3, 5, 7,… 

              1              3         

                          :    

                  𝑎1                 𝑎2...         

𝑎1 = 1, 𝑎2 = 3, 𝑎3 = 5,      𝑎4 = 7 

                    𝑎𝑛 

                                 

                                  2                                                    

     2 .                                    



     

  :              5, 9, 13, …    

.                                                 

     

       :       4:                       .             

𝑎4 =  𝑎3 + 4 = 13 + 4 = 17 



:                   

                       )   (       :                                                     

                                                    .                      𝑑 . 

𝑎2 = 𝑎1 + 𝑑 

𝑎3 = 𝑎2 + 𝑑 

...        

                                  

:                             

𝑑 = 𝑎2 − 𝑎1 

   𝑑 = 𝑎3 − 𝑎2...           

:                        

𝑑 = 𝑎𝑛 − 𝑎𝑛−1  



  :                        

1.    :               1, 3, 5, 7, …      

(a)  3 (b)  2 (c)  4 (d)   1 

 

2.    :               8, 3, −2, −7, …      

(a)  3 (b)  5 (c)  −5 (d)   −3 

 

3.    :                          4,        , 10, 13, …      

(a)  7 (b)  16 (c)  5 (d)   −3 

 

4.                           5         4                      

(a)  9 (b)  1 (c)  13 (d)   20 

 



:                              

     𝑎𝑛                                                                                    

:                              

:         

𝑎2 = 𝑎1 + 𝑑 

𝑎3 = 𝑎2 + 𝑑 = 𝑎1 + 𝑑 + 𝑑 = 𝑎1 + 2𝑑 

𝑎4 = 𝑎3 + 𝑑 = 𝑎1 + 2𝑑 + 𝑑 = 𝑎1 + 3𝑑 

…  

:                         

𝑎𝑛 = 𝑎1 +  𝑛 − 1 𝑑 

.                                         

                                  1, 3, 5, 7, … 

 :                𝑑 = 2   𝑎1 = 1  

𝑎7 = 𝑎1 + 6𝑑 

𝑎7 = 1 + 6 2 = 1 + 12 = 13 



  :                        

   :                             3, 6, 9, 12,…      

(a)  33 (b)  23 (c)  21 (d)   30 

 



                         

                      1     5  

1 + 2 + 3 + 4 + 5 = 15 

:              

1, 2, 3, 4, 5 

                         1         1             5              ( 5.) 

                                        𝑎1              𝐿              𝑛        

𝑛 𝑎1 + 𝐿 

2
 

:                

1, 2, 3, 4, 5 

   

𝑛 𝑎1 + 𝐿 

2
=

5 1 + 5 

2
=

30

2
= 15 



  :                        

   :                     1, 3, 5, 7, 9, 11      

(a)  72 (b)  23 (c)  30 (d)   36 

 



37
37



  :                        

   :                                     2, 4, 6, …      

(a)  90 (b)  100 (c)  110 (d)   120 

 



 الدرس الثاني
 

  

 الهندسيةالمتتالية 



                                  :                                                     

                                                    .               𝑟 . 

𝑎2 = 𝑎1(𝑟) 

𝑎3 = 𝑎2(𝑟) 

       

:                              

𝑟 =
𝑎2

𝑎1
 

   

𝑟 =
𝑎3

𝑎2
 

:           

𝑟 =
𝑎𝑛

𝑎𝑛−1
 



  :                        

1.    :               1, 3, 9, 27,…      

(a)  3 (b)  9 (c)  12 (d)   2 

 

2.    :               2, 10, 50, 250,…      

(a)  2 (b)  5 (c)  10 (d)   20 

 

3.    :                          4, 8,        , 32, …      

(a)  12 (b)  16 (c)  20 (d)   14 

 

4.                          1         4                      

(a)  8 (b)  16 (c)  5 (d)   6 
 



:                              

                                        . 

 :          

𝑎2 = 𝑎1(𝑟) 

𝑎3 = 𝑎2 𝑟 = 𝑎1 𝑟  𝑟 = 𝑎1(𝑟2) 

𝑎4 = 𝑎3 𝑟 = 𝑎1 𝑟
2  𝑟 = 𝑎1(𝑟3) 

…  

:                          

𝑎𝑛 = 𝑎1(𝑟𝑛−1) 

.                                          



  :                                  

3, 6, 12, … 

:               

𝑎6 = 𝑎1(𝑟5) 

 :                𝑟 = 2   𝑎1 = 3:                 

𝑎6 = 3 26−1 = 3 25 = 3 32 = 96 

                          96. 



  :                        

   :                         1, 3, 9, …      

(a)  35 (b)  25 (c)  24 (d)   34 

 

 


